{Delphi adds code automatically at the beginning of the program. Don't mess

with this unless you know what you are doing.}

unit gamespas;

interface

uses

  Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,

  StdCtrls, ExtCtrls, Buttons, ComCtrls, MPlayer, Grids, DBGrids, Math,

  Menus;

{Delphi makes these TYPE declarations automatically, when you create the

buttons, edit boxes, panels, etc. on the visual interface.}

type

  TForm1 = class(TForm)

    pnlScore: TPanel;

    btnBegin: TButton;

    pnlSetup: TGroupBox;

    grpAlter: TGroupBox;

    radioAlterTFT: TRadioButton;

    radioAlterWSLS: TRadioButton;

    radioAlterALLD: TRadioButton;

    radioAlterALLC: TRadioButton;

    grpEgo: TGroupBox;

    radioEgoTFT: TRadioButton;

    radioEgoWSLS: TRadioButton;

    radioEgoALLD: TRadioButton;

    radioEgoALLC: TRadioButton;

    dlgPrint: TPrintDialog;

    grdPayoffs: TStringGrid;

    lblStrategy: TStaticText;

    lblPayoffs: TStaticText;

    txtNoise: TEdit;

    uderror: TUpDown;

    lblNoise: TLabel;

    txtEgoScore: TEdit;

    txtAlterScore: TEdit;

    Label1: TLabel;

    Label3: TLabel;

    StaticText1: TStaticText;

    ckNoGraph: TCheckBox;

    lblDiscount: TLabel;

    txtDiscount: TEdit;

    btnRobin: TButton;

    pnlRoundRobin: TPanel;

    memoRobin: TMemo;

    lblRoundRobin: TStaticText;

    btnCloseRobin: TButton;

    lblGame: TStaticText;

    pnlInfo: TPanel;

    memoInfo: TMemo;

    lblInfo: TStaticText;

    btnCloseInfo: TButton;

    menuMain: TMainMenu;

    menuFile: TMenuItem;

    menuFilePrint: TMenuItem;

    menuFileClear: TMenuItem;

    menuFileExit: TMenuItem;

    btnHelp: TButton;

    menuView: TMenuItem;

    menuViewSetup: TMenuItem;

    menuViewScore: TMenuItem;

    menuViewRobin: TMenuItem;

    menuViewInformation: TMenuItem;

    Label4: TLabel;

    Label5: TLabel;

    txtReplications: TEdit;

    Label2: TLabel;

    txtIterations: TEdit;

    Label6: TLabel;

 {These are PROCEDURES, blocks of code that execute some process.

 In each of these cases, the procedure was automatically created (and these

 declarations were placed here) by Delphi when I created a button

 and double-clicked on it.  I named the buttons (using the Object Inspector)

 when I created them:   btnBegin, btnInfo, btnClear, etc.

 I made procedure FormCreate by double-clicking on the form itself.

 The FormCreate procedure then runs automatically when the user starts

 the program.}

    procedure btnBeginClick(Sender: TObject);

    procedure btnInfoClick(Sender: TObject);

    procedure btnClearClick(Sender: TObject);

    procedure btnPrintClick(Sender: TObject);

    procedure FormCreate(Sender: TObject);

    procedure Initialize(Sender: TObject);

    procedure Run(Sender: TObject);

    procedure SetupScreen(Sender: TObject);

    procedure DrawLine(Sender: TObject);

    procedure NameGame(Sender: TObject);

    procedure Misinterpret(Sender: TObject);

    procedure DefineStrategies(Sender: TObject);

    procedure Payoffs(Sender: TObject);

    procedure btnRobinClick(Sender: TObject);

    procedure btnCloseRobinClick(Sender: TObject);

    procedure btnCloseInfoClick(Sender: TObject);

    procedure menuFileExitClick(Sender: TObject);

    procedure menuViewSetupClick(Sender: TObject);

    procedure menuViewRobinClick(Sender: TObject);

    procedure menuViewScoreClick(Sender: TObject);

  private

    { Private declarations }

  public

    { Public declarations }

  end;

  const

  Background = {clbtnface; }{clScrollBar;   } clWhite;

  VScale = 1; {Adjust scaling of vertical scores}

  LeftEdge = 112; {Adjust left side of plot}

  VEgo = 310;

  VAlter = 365;

var {This section declares all the variables and their types.}

  Form1: TForm1;

    {I added all of these myself.}

  Temptation, Reward, Punishment, Sucker,

  OldTurn, NewTurn, MaxIterations, MaxReplications, Tournament : Integer;

  HOffset1, HOffset2, VOffset1, VOffset2 : Integer;

  ScoreEgo, ScoreAlter, NewScoreEgo, NewScoreAlter,

  TotalScoreEgo, TotalScoreAlter : Real;

  Noise: Real;

  Discount: Extended;

  RoundRobin, ShowPlot, ValidInput : Boolean;

  {These are not preset types like "integer" but are groups of categories that

  I assigned. These variables can take any of the values in parentheses.}

  Ego, Alter, EgoPerceivesAlter, AlterPerceivesEgo, OldEgo, OldAlter : (C,D);

  PlayersStrategy : array[1..2] of (ALLC,ALLD,TFT,WSLS);

  PlayersOutcome : array[1..2] of (Rewarding,Punishing);

implementation

{$R *.DFM}

{*******************************************************************}

procedure TForm1.btnBeginClick(Sender: TObject);

begin    {This procedure runs when the user clicks the BEGIN button.}

      RoundRobin := False;

      pnlRoundRobin.visible := false;

      {Read whether to suppress the plot}

      If ckNoGraph.checked then ShowPlot := false

        else ShowPlot := true;

      Run(Sender);

end;

{*******************************************************************}

procedure TForm1.Initialize(Sender: TObject);

begin    {This procedure reads the input from the user.}

     If not RoundRobin then

        DefineStrategies(Sender); {reads user input to define player strategies}

     {These lines initialize variables at their base level.}

     TotalScoreEgo := 0;

     TotalScoreAlter := 0;

     {Converts the string value

     in the txtIterations.Text edit box into a numeric value,

     using the StrToInt() command, then sets the variable

     Maxiterations equal to that numeric value.}

     MaxReplications := StrToInt(txtReplications.Text);

     MaxIterations := StrToInt(txtIterations.Text);

     {Suppress plot if user requests more than 20 games}

     If MaxReplications>20 then ShowPlot := false;

     {This gets the "% Error" level from the txtNoise edit box and

     converts it to an integer.}

     Noise := (StrToInt(txtNoise.Text));

     {Defines the discount parameter}

     Discount := (StrToFloat(txtDiscount.Text));

     {These lines read payoffs from user-entered matrix.}

     Temptation := StrToInt(grdPayoffs.Cells[1,1]);

     Reward     := StrToInt(grdPayoffs.Cells[1,2]);

     Punishment := StrToInt(grdPayoffs.Cells[1,3]);

     Sucker     := StrToInt(grdPayoffs.Cells[1,4]);

     {These lines verify that all input is within bounds.}

     ValidInput := False;

     if Discount>1 then

     begin

        ShowMessage('Discount parameter too high; reset to 1');

        Discount := 1;

        txtDiscount.Text := '1';

     end

     else

     if Discount<0 then

     begin

        ShowMessage('Discount parameter too low; reset to 0');

        Discount := 0;

        txtDiscount.Text := '0';

     end

     else

     if Noise>100 then

     begin

        ShowMessage('Noise too high; reset to 100%');

        Noise := 100;

        txtNoise.Text := '100';

     end

     else

     if Noise<0 then

     begin

        ShowMessage('Noise too low; reset to 0%');

        Noise := 0;

        txtNoise.Text := '0';

     end

     else

        ValidInput := True;

end;

{*******************************************************************}

procedure TForm1.Run(Sender: TObject);

        {Because they are declared within the procedure,

        these 'local' variables can only be used within BeginClick.}

var

     k: Integer;

begin

     Initialize(Sender);     {calls procedure to initialize variables & read input}

     NameGame(Sender);       {calls procedure to label the type of game}

     SetUpScreen(Sender);    {calls procedure to clear & prepare display}

   {This loop runs through the k games}

   If ValidInput then

   For k := 1 to MaxReplications do

      begin

        {This resets variables}

        ScoreEgo := 0;

        ScoreAlter := 0;

        NewScoreEgo := 0;

        NewScoreAlter := 0;

        OldTurn := 0;

        NewTurn := 0;

        PlayersOutcome[1] := Rewarding;

        PlayersOutcome[2] := Rewarding;

        {This sets both strategies to "Cooperate" on the first round, unless nasty}

        If PlayersStrategy[1] = ALLD then Ego := D else Ego := C;

        If PlayersStrategy[2] = ALLD then Alter := D else Alter := C;

        {Start out with correct impressions of each other's behavior}

        EgoPerceivesAlter := Alter;

        AlterPerceivesEgo := Ego;

        Repeat

        {This notes last round's move as "Old"}

              OldEgo := Ego;

              OldAlter := Alter;

              {This sets this round's move for TFT players}

              If PlayersStrategy[1] = TFT then Ego := EgoPerceivesAlter;

              If PlayersStrategy[2] = TFT then Alter := AlterPerceivesEgo;

              {This sets this round's move for ALL-D players}

              If PlayersStrategy[1] = ALLD then Ego := D;

              If PlayersStrategy[2] = ALLD then Alter := D;

              {This sets this round's move for ALL-C players}

              If PlayersStrategy[1] = ALLC then Ego := C;

              If PlayersStrategy[2] = ALLC then Alter := C;

              {This sets this round's move for WSLS players}

              If PlayersStrategy[1] = WSLS then

              begin

                   If PlayersOutcome[1] = Rewarding then Ego := OldEgo;

                   If PlayersOutcome[1] = Punishing then

                   begin

                        if OldEgo = C then Ego := D;

                        if OldEgo = D then Ego := C;

                   end;

              end;

              If PlayersStrategy[2] = WSLS then

              begin

                   If PlayersOutcome[2] = Rewarding then Alter := OldAlter;

                   If PlayersOutcome[2] = Punishing then

                   begin

                        if OldAlter = C then Alter := D;

                        if OldAlter = D then Alter := C;

                   end;

              end;

                Payoffs(Sender);    {call procedure to award payoffs}

                {if user has requested noise, call the misinterpretation routine}

                If Noise>0 then Misinterpret(Sender);

                {This marks the beginning of the next round}

                NewTurn :=  OldTurn + 1;

                HOffset1 := OldTurn*3;

                HOffset2 := NewTurn*3;

                {This draws a line from the score at last round to the new score,

                adjusting the coordinates to fit the viewing space}

                If ShowPlot then DrawLine(Sender);

                {This renames the adjusted scores as the present scores}

                ScoreEgo := NewScoreEgo;

                ScoreAlter := NewScoreAlter;

                {This renames for the end of the turn}

                OldTurn := NewTurn;

        until NewTurn > MaxIterations-1;     {This ends the game after MaxIt rounds}

   {accumulate total scores over multiple games}

   TotalScoreEgo := TotalScoreEgo + ScoreEgo/(MaxIterations*MaxReplications);

   TotalScoreAlter := TotalScoreAlter + ScoreAlter/(MaxIterations*MaxReplications);

   end;

   {Displays score on bar at bottom}

    txtEgoScore.text := FloatToStr(TotalScoreEgo);

    txtAlterScore.text := FloatToStr(TotalScoreAlter);

end; {of procedure BeginClick}

{*******************************************************************}

procedure TForm1.Payoffs(Sender: TObject);

var

        ToPower : Extended;

begin

{This delivers  PD payoffs and records the adjusted scores}

   ToPower := NewTurn;

   If Ego =D then

   begin

        If Alter =D then

        begin

             NewScoreEgo := ScoreEgo + Power(Discount,ToPower)*Punishment;

             NewScoreAlter := ScoreAlter + Power(Discount,ToPower)*Punishment;

             PlayersOutcome[1] := Punishing;

             PlayersOutcome[2] := Punishing;

        end;

        If Alter =C then

        begin

             NewScoreEgo := ScoreEgo + Power(Discount,ToPower)*Temptation;

             NewScoreAlter := ScoreAlter + Power(Discount,ToPower)*Sucker;

             PlayersOutcome[1] := Rewarding;

             PlayersOutcome[2] := Punishing;

        end;

   end;

   If Ego =C then

   begin

        If Alter =D then

        begin

           NewScoreEgo := ScoreEgo + Power(Discount,ToPower)*Sucker;

           NewScoreAlter := ScoreAlter + Power(Discount,ToPower)*Temptation;

           PlayersOutcome[1] := Punishing;

           PlayersOutcome[2] := Rewarding;

        end;

        If Alter =C then

        begin

             NewScoreEgo := ScoreEgo + Power(Discount,ToPower)*Reward;

             NewScoreAlter := ScoreAlter + Power(Discount,ToPower)*Reward;

             PlayersOutcome[1] := Rewarding;

             PlayersOutcome[2] := Rewarding;

        end;

   end;

end;

{*******************************************************************}

procedure TForm1.Misinterpret(Sender: TObject);

var

     R1, R2 : Integer;

begin

   {This reverses interpretations of the previous move

   for contingent strategies}

   R1 := Random(100);

   R2 := Random(100);

   If R1<Noise  then        {Ego's perception is incorrect}

   begin

        If PlayersStrategy[1] = TFT then

        begin

             If Alter = C then EgoPerceivesAlter := D;

             If Alter = D then EgoPerceivesAlter := C;

             If ShowPLot then

                 Canvas.TextOut(HOffset1+LeftEdge+2,(VEgo+2-Round(ScoreEgo*VScale)+2*NewTurn),'e');

        end;

        If PlayersStrategy[1] = WSLS then

        begin

             If PlayersOutcome[1] = Rewarding then PlayersOutcome[1] := Punishing

                else PlayersOutcome[1] := Rewarding;

             If ShowPlot then

                 Canvas.TextOut(HOffset1+LeftEdge+2,(VEgo+2-Round(ScoreEgo*VScale)+2*NewTurn),'e');

        end;

   end

   else

        EgoPerceivesAlter := Alter;   {Ego's perception is correct}

   If R2<Noise  then       {Alter's perception is incorrect}

   begin

        If PlayersStrategy[2] = TFT then

        begin

             If Ego = C then AlterPerceivesEgo := D;

             If Ego = D then AlterPerceivesEgo := C;

             If ShowPlot then

                Canvas.TextOut(HOffset1+LeftEdge+2,(VAlter+2-Round(ScoreAlter*VScale)+2*NewTurn),'e');

        end;

        If PlayersStrategy[2] = WSLS then

        begin

             If PlayersOutcome[2] = Rewarding then PlayersOutcome[2] := Punishing

                else PlayersOutcome[2] := Rewarding;

             If ShowPlot then

                Canvas.TextOut(HOffset1+LeftEdge+2,(VAlter+2-Round(ScoreAlter*VScale)+2*NewTurn),'e');

        end;

   end

   else

        AlterPerceivesEgo := Ego;   {Alter's perception is correct}

end;

{*******************************************************************}

procedure TForm1.DefineStrategies(Sender: TObject);

begin

     {Reads input from user and defines strategies for two players}

     If RadioEgoTFT.Checked = True then PlayersStrategy[1] := TFT;

     If RadioEgoWSLS.Checked = True then PlayersStrategy[1] := WSLS;

     If RadioEgoALLD.Checked = True then PlayersStrategy[1] := ALLD;

     If RadioEgoALLC.Checked = True then PlayersStrategy[1] := ALLC;

     If RadioAlterTFT.Checked = True then PlayersStrategy[2] := TFT;

     If RadioAlterWSLS.Checked = True then PlayersStrategy[2] := WSLS;

     If RadioAlterALLD.Checked = True then PlayersStrategy[2] := ALLD;

     If RadioAlterALLC.Checked = True then PlayersStrategy[2] := ALLC;

end;

{*******************************************************************}

procedure TForm1.NameGame(Sender: TObject);

var

     T, R, S, P : Integer;

begin

     T := Temptation;

     R := Reward;

     P := Punishment;

     S := Sucker;

     lblGame.Caption := '';

     If (T>R) and (R>P) and (P>S) and (2*R>T+S) then lblGame.Caption := 'Prisoner''s Dilemma';

     If (R>T) and (T>P) and (P>S) then lblGame.Caption := '   Assurance Game';

     If (T>R) and (R>S) and (S>P) then lblGame.Caption := '      Chicken Game';

end;

{*******************************************************************}

{Gives information}

procedure TForm1.btnInfoClick(Sender: TObject);

begin

        btnClearClick(Sender);

        pnlRoundRobin.visible := false;

        pnlInfo.visible := not pnlInfo.visible;

end;

{*******************************************************************}

procedure TForm1.SetupScreen(Sender: TObject);

var

     i,j : Integer;

begin

     j := 149;

     With Form1.Canvas do {this line lets Delphi know you'll be using

                          the graphics tools like Pen, Brush, etc.}

     begin

          Brush.Color := background; {Sets the pen and paintbrush to the color}

          Pen.Color := background;   {of the background}

          Rectangle (0,0,Form1.width,form1.height); {Draws rectangle w/ upper left

                                   and bottom right coordinates}

          Pen.Color := clBlack;

          For i := LeftEdge to LeftEdge+600 do {Counter is a loop variable that counts

                                      from 90 to 840}

          begin

               MoveTo (LeftEdge,530);       {Move the pen to this x,y coordinate}

               j := j +1;  {Counter2 is also counting up}

               If j = 150 then

               begin

                  LineTo (i,530);

                  MoveTo (i,525);

                  LineTo (i,530);

                  Canvas.TextOut((i-5),535,IntToStr(Round((i-LeftEdge)/3)));

                  j := 0;

               end; {If Counter2 = 150}

          end;  {For Counter := 90 to 840}

      end;  {With Form1.Canvas do}

end;

{*******************************************************************}

procedure TForm1.DrawLine(Sender: TObject);

{This draws a line from the score at last round to the new score,

   adjusting the coordinates to fit the viewing space}

begin

     With Form1.Canvas do

     begin

        Pen.Color := clRed;

        MoveTo(HOffset1+LeftEdge,(VEgo-Round(ScoreEgo*VScale))+2*NewTurn);

        LineTo(HOffset2+LeftEdge,(VEgo-Round(NewScoreEgo*VScale))+2*NewTurn);

        Pen.Color := clBlue;

        MoveTo(HOffset1+LeftEdge,(VAlter-Round(ScoreAlter*VScale))+2*NewTurn);

        LineTo(HOffset2+LeftEdge,(VAlter-Round(NewScoreAlter*VScale))+2*NewTurn);

     end;

end;

{*******************************************************************}

procedure TForm1.btnClearClick(Sender: TObject);

begin

With Form1.Canvas do

      begin

      Brush.Color := background;

      Pen.Color := background;

      Rectangle (0,0,form1.width,form1.height);

      end;

end;

{*******************************************************************}

procedure TForm1.btnPrintClick(Sender: TObject);

//var

//Line:Integer;

//PrintText : System.Text;

begin

     if dlgPrint.Execute then

        begin

                ShowMessage('Not enabled yet');

        end;

end;

{*******************************************************************}

procedure TForm1.FormCreate(Sender: TObject);

begin

     Randomize;

     {Sets up the form}

     Form1.Left := 2;

     Form1.Top := 2;

     Form1.Color := background;

     pnlInfo.Left := 192;

     pnlRoundRobin.Left := 192;

     pnlInfo.Top := 72;

     pnlRoundRobin.Top := 72;

     {Sets up the starting values for the payoff matrix}

     grdPayoffs.Options := [goFixedHorzLine,goFixedVertLine,goHorzLine,

     


  goVertLine,goEditing,

                          goEditing,goAlwaysShowEditor,goTabs,goThumbTracking];

     grdPayoffs.ColCount := 2;

     grdPayoffs.RowCount := 5;

     grdPayoffs.Width := 55;

     grdPayoffs.Height := 129;

     grdPayoffs.Cells[0,1] := 'T';

     grdPayoffs.Cells[0,2] := 'R';

     grdPayoffs.Cells[0,3] := 'P';

     grdPayoffs.Cells[0,4] := 'S';

     grdPayoffs.Cells[1,1] := '5';

     grdPayoffs.Cells[1,2] := '3';

     grdPayoffs.Cells[1,3] := '1';

     grdPayoffs.Cells[1,4] := '0';

     txtDiscount.Text := '1';

     RoundRobin := false;   {default = runtime}

     Tournament := 0; {initialize}

end;

{*******************************************************************}

procedure TForm1.btnRobinClick(Sender: TObject);

Var

      StrategyTotal : Array[1..4] of Real;

      i : integer;

begin

      btnClearClick(Sender);

      pnlInfo.visible := false;

      {initialize total score for each strategy}

      for i := 1 to 4 do StrategyTotal[i] := 0;

      Tournament := Tournament + 1;

      RoundRobin := True; {designate as automatic roundrobin}

      pnlRoundRobin.visible := true;

      ShowPlot := False; {suppress plot}

      PlayersStrategy[1] := TFT;

      PlayersStrategy[2] := TFT;

      Run(Sender);

      memoRobin.Lines.Add ('Tournament ' + IntToStr(Tournament));

      memoRobin.Lines.Add ('Games:   ' + IntToStr(MaxReplications));

      memoRobin.Lines.Add ('Noise:    ' + FloatToStr(Noise));

      memoRobin.Lines.Add ('Discount: ' + FloatToStr(Discount));

      memoRobin.Lines.Add ('Payoffs: T= ' + IntToStr(Temptation) + ';  R= ' +

                            IntToStr(Reward) + ';  P= ' + IntToStr(Punishment) +

                            ';  S= ' + IntToStr(Sucker));

      memoRobin.Lines.Add ('...................................');

      memoRobin.Lines.Add ('TFT (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs TFT ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[1] := StrategyTotal[1] + TotalScoreEgo;

      StrategyTotal[1] := StrategyTotal[1] + TotalScoreAlter;

      PlayersStrategy[1] := TFT;

      PlayersStrategy[2] := WSLS;

      Run(Sender);

      memoRobin.Lines.Add ('TFT (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs WSLS ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[1] := StrategyTotal[1] + TotalScoreEgo;

      StrategyTotal[2] := StrategyTotal[2] + TotalScoreAlter;

      PlayersStrategy[1] := TFT;

      PlayersStrategy[2] := ALLC;

      Run(Sender);

      memoRobin.Lines.Add ('TFT (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLC ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[1] := StrategyTotal[1] + TotalScoreEgo;

      StrategyTotal[3] := StrategyTotal[3] + TotalScoreAlter;

      PlayersStrategy[1] := TFT;

      PlayersStrategy[2] := ALLD;

      Run(Sender);

      memoRobin.Lines.Add ('TFT (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLD ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[1] := StrategyTotal[1] + TotalScoreEgo;

      StrategyTotal[4] := StrategyTotal[4] + TotalScoreAlter;

      PlayersStrategy[1] := WSLS;

      PlayersStrategy[2] := WSLS;

      Run(Sender);

      memoRobin.Lines.Add ('WSLS (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs WSLS ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[2] := StrategyTotal[2] + TotalScoreEgo;

      StrategyTotal[2] := StrategyTotal[2] + TotalScoreAlter;

      PlayersStrategy[1] := WSLS;

      PlayersStrategy[2] := ALLC;

      Run(Sender);

      memoRobin.Lines.Add ('WSLS (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLC ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[2] := StrategyTotal[2] + TotalScoreEgo;

      StrategyTotal[3] := StrategyTotal[3] + TotalScoreAlter;

      PlayersStrategy[1] := WSLS;

      PlayersStrategy[2] := ALLD;

      Run(Sender);

      memoRobin.Lines.Add ('WSLS (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLD ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[2] := StrategyTotal[2] + TotalScoreEgo;

      StrategyTotal[4] := StrategyTotal[4] + TotalScoreAlter;

      PlayersStrategy[1] := ALLC;

      PlayersStrategy[2] := ALLC;

      Run(Sender);

      memoRobin.Lines.Add ('ALLC (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLC ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[3] := StrategyTotal[3] + TotalScoreEgo;

      StrategyTotal[3] := StrategyTotal[3] + TotalScoreAlter;

      PlayersStrategy[1] := ALLC;

      PlayersStrategy[2] := ALLD;

      Run(Sender);

      memoRobin.Lines.Add ('ALLC (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLD ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[3] := StrategyTotal[3] + TotalScoreEgo;

      StrategyTotal[4] := StrategyTotal[4] + TotalScoreAlter;

      PlayersStrategy[1] := ALLD;

      PlayersStrategy[2] := ALLD;

      Run(Sender);

      memoRobin.Lines.Add ('ALLD (' + IntToStr(Round(TotalScoreEgo)) +

                                ') vs ALLD ('+ IntToStr(Round(TotalScoreAlter)) + ')');

      StrategyTotal[4] := StrategyTotal[4] + TotalScoreEgo;

      StrategyTotal[4] := StrategyTotal[4] + TotalScoreAlter;

      memoRobin.Lines.Add ('........................................');

      memoRobin.Lines.Add ('Total Score  TFT: ' + IntToStr(Round(StrategyTotal[1])));

      memoRobin.Lines.Add ('Total Score WSLS: ' + IntToStr(Round(StrategyTotal[2])));

      memoRobin.Lines.Add ('Total Score ALLC: ' + IntToStr(Round(StrategyTotal[3])));

      memoRobin.Lines.Add ('Total Score ALLD: ' + IntToStr(Round(StrategyTotal[4])));

      memoRobin.Lines.Add ('');

      memoRobin.Lines.Add ('-----------------------------------------------------------------------');

      memoRobin.Lines.Add ('');

end;

{*******************************************************************}

procedure TForm1.btnCloseRobinClick(Sender: TObject);

begin

        pnlRoundRobin.visible := false;

end;

{*******************************************************************}

procedure TForm1.btnCloseInfoClick(Sender: TObject);

begin

       pnlInfo.visible := false;

end;

{*******************************************************************}

procedure TForm1.menuFileExitClick(Sender: TObject);

begin

        Close;

end;

{*******************************************************************}

procedure TForm1.menuViewSetupClick(Sender: TObject);

begin

        pnlSetup.visible := not pnlSetup.visible;

end;

{*******************************************************************}

procedure TForm1.menuViewRobinClick(Sender: TObject);

begin

        pnlRoundRobin.visible := not pnlRoundRobin.visible;

end;

{*******************************************************************}

procedure TForm1.menuViewScoreClick(Sender: TObject);

begin

        pnlScore.visible := not pnlScore.visible;

end;

end.

